Orust BK

KM 1 2022-01-20

Partavling, 4 bord, 8 par. Antal brickor: 24. Medel: 72.0.

Plac  Par Poéng % Namn MID Klubb
1 3 81 56.25  Dan Karlsson - Shirley Persson 26314 25455  Orust BK
2 1 76 52.78  Bengt Hilling - Bernt Johansson 10849 9164 Orust BK
3 2 74 51.39  Kjell Holmgren - Bertil Andersson 10291 79726  Orust BK
4 5 71 49.31  Ivan Abrahamsson - Leif Martinsson 15144 7463  Tjorns BK - Orust BK
4 6 71 49.31 Kjell Glans - Eva Glans 15295 8552 Tjorns BK
6 7 70 48.61  Dolf Bergman - Peter Koepke 1618 26865 Orust BK
7 4 67 46.53  Erling Lennartsson - Jonas Ammedalen 7457 80028  Orust BK
8 8 66 45.83  Olle Kimfalk - Tommy Gyllin 84905 13152  Brastads BS
1 D83 Basta kontrakt 2 & EKn85 Basta kontrakt 3 4 Kn109 Basta kontrakt
Nord v5 5NT N =460 Ost v Kn54 4v O =-420 Syd v 876 4v S =420
Ingen + EKn1096 NS + D102 ov + KKn84
#D1072 & ¢ v & NT #986 & ¢ v o NT #EKn5 & ¢ v & NT
410642 «E75 N 109 111011 4964 4 K32 N4 4243 4« D52 & EK763 N8 9 107 8
v74 v Kn63 S 109 119 11 vE10986 vD73 S 442 43 vKn954 v- S 8 8 107 8
+ D852 ¢ K743 024232 ¢ KKn ¢ E976 09 9 109 9 ¢ D52 ¢10973 04426 4
853 #KKn6 V24232 #KKn7 #E103 vV 9 9 109 9 D109 #8764 V4428¢64
& KKn9 « D107 484
v EKD10982 vK2 v EKD1032
.- ¢ 8543 +E6
*E94 #D542 *K32
Par  Kontr Ut Res  Poéang Par  Kontr Ut Res  Poéang Par  Kontr Ut Res  Poang
5 4 4vS+2 46 480 6.0 0.0 7 1 3NO= +5 -400 6.0 0.0 6 2 4v S= a2 420 5.0 1.0
6 2 4v S+1 44 450 2.0 4.0 5 4 4v V= 8 -420 3.0 3.0 7 1 49 S= &T 420 5.0 1.0
7 1 4v S+1 &5 450 2.0 4.0 8 3 4v V= %9 -420 3.0 3.0 5 4 3vS+1 &9 170 2.0 4.0
8 3 4v S+1 &8 450 20 4.0 6 2 4vV+1l v4 -450 0.0 6.0 8 3 6vS-1 &T -50 0.0 6.0
4 & K84 Bésta kontrakt 5 4109 Bésta kontrakt 6 & D532 Bésta kontrakt
Vast v 65 4¢ S =130 Nord v EK5 24 N =90 Ost v32 4v O =-620
Alla + EK843 NS 49765 ov 49853
#EK8 & ¢ v & NT #D1062 & ¢ v & NT #E93 & ¢ v & NT
4E765 41093 N9 97 88 4Kn62 4K854 N8 6 667 4 K6 4 E1084 N27 353
vE97 vDKn1082 S 9 107 8 8 vKn982 vD73 S 866 6 7 vEDKn54 v976 S27 354
¢ D72 ¢ Kn6 043654 ¢ E1043 ¢ KDKn 047676 ¢+ E107 ¢+ Kn O 106 108 8
#Kn103 %654 V4365414 #Kn9 #E43 V47¢67F€6 #D52 #Kn10864 V 106 107 8
& DKn2 4 ED73 4 Kn97
v K43 v 1064 v K108
+ 1095 ¢ 82 + KD642
«D972 *K875 *K7
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
7 1 2NN= v7 120 5.0 1.0 7 2 2NV -2 &T 100 6.0 0.0 7 2 3¢ S-2 *2 -100 6.0 0.0
8 3 INN+1 v8 120 5.0 1.0 1 3 1INO-1 *5 50 40 20 1 3 1vV+3 ¢9 -170 3.0 3.0
6 2 3NN-1 vQ -100 2.0 4.0 4 8 INO= v6 90 1.0 5.0 6 5 2vV+2 42 -170 3.0 3.0
5 4 3NS-3 a5 -300 0.0 6.0 6 5 INO= v6 90 1.0 5.0 4 8 INDS-2 v5 -300 0.0 6.0
7 & K8742 Basta kontrakt 8 & KKn2 Basta kontrakt 9 4 K9 Basta kontrakt
Syd v 109876 5& V =-600 Vast v Kn962 34 VD-1100 Nord v DKn93 4v N =420
Alla + D2 Ingen ¢ 42 ov + EK1093
«10 & ¢ v & NT #9762 & ¢ v & NT *32 & ¢ v & NT
~E6 «Kn10 N2 4884 49654 4 D1083 N9 5856 4 ED876 410532 N 5 10105 8
v EDKn vK2 S 24884 vD v K843 S 96857 v 104 v 862 S 5 10105 8
4108 ¢ KKn763 O 118 5 5 7 ¢ EDKn1095 ¢ 76 047585 ¢72 + D6 083384
#KDKn632 #9875 vV 118 5 5 7 #Kn3 *K85 V47585 #D987  #EKKn5 vV 83384
4 D953 s E7 «Kn4
v 543 vE1075 v EK75
+ E954 + K83 + Kn854
*E4 #ED104 #1064
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
1 3 3NO-1 43 100 6.0 0.0 1 3 2NS= +Q 120 6.0 0.0 2 4 4v S= *9 420 5.0 1.0
4 8 34V= v9 -110 4.0 2.0 4 8 2¢ V-2 v9 100 40 20 8 5 4v S= vT 420 5.0 1.0
6 5 3&aV+l a2 -130 2.0 4.0 6 5 2¢ V-1 *7 50 2.0 4.0 1 6 3¢ N+1 &K 130 2.0 4.0
7 2 2NV +1 v7 -150 0.0 6.0 7 2 2¢ V= v9 -90 0.0 6.0 7 3 2¢ N+1 &K 110 0.0 6.0
10 4 EKKn105 Basta kontrakt 11 s E7 Basta kontrakt 12 D9 Basta kontrakt
Ost vK5 ANT S =630 Syd v KDKn102 44 V =-420 Vast v 1075 24 VD -1100
Alla + 10876 Ingen ¢ EKn5 NS ¢+ E976
#Kn9 & ¢ v & NT #763 & ¢ v & NT #Kn1065 & ¢ v & NT
4DI7432 48 N 10116 9 10 4 KKn63 4 D10985 N6 4836 4 EKn1053 464 N5586 6
vEDKn  v987642 S 10116 9 10 vE74 v5 S 6 4836 v EKKn v 63 S5586 6
+5 ¢ KKn3 032742 ¢+ K106 ¢D743 07 9 5 107 ¢ 842 ¢ KDKn5 078477
%832 «KD5 V21742 #EK8 #Kn42 V695 107 «D2 #98743 V78477
46 442 4 K872
v 103 v 9863 v D9842
¢+ ED942 + 982 + 103
»E10764 #D1095 &EK
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
7 3 24 V-2 v5 200 6.0 0.0 16 440-1 +8 50 6.0 0.0 1 6 2vDS= 4A 670 6.0 0.0
2 4 3¢ S= 49 110 40 20 8 5 340+2 v6 -200 4.0 2.0 8 5 2vS= vA 110 40 20
16 3v0-1 oK 100 2.0 4.0 2 4 44 O= v8 -420 1.0 5.0 7 3 INO= v4 -90 2.0 40
8 5 2v0= 46 -110 0.0 6.0 7 3 44 O= v9 -420 10 5.0 2 4 INO+1 v4 -120 0.0 6.0
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13 482 Basta kontrakt 14 4 K53 Basta kontrakt 4 KD103 Basta kontrakt
Nord v 102 54 O =-650 Ost v 95 3¢ S =110 v KD5 4ANT S =630
Alla + 109654 Ingen + D843 +73
#DKn109 & ¢ v & NT #E1086 & ¢ v &aN #9654 LI A
4 EKn753 & KD64 N7 6523 & Kn2 « E984 N7 96 87 « Kn98 N 10109 9
vE6 v D954 S76523 vD73 v EKKn84 S796 87 vKnl10762 v43 S 10109 9
4832 ¢ EKD O6 7 8 1110 4972 ¢+ K5 06 4756 ¢ 109652 O3 344
*762 &E3 V6 7 7 1110 #DKn543 #72 V64756 #Kn72 V 3344
+ 109 4 D1076 475
v KKn873 v 1062 vE98
¢ Kn7 + EKn106 + EKKn84
*K854 *K9 #EDS8
Par  Kontr ut Res Par  Kontr ut Res  Poang Kontr ut Res  Poang
35 6sV-1 *9 100 35 1v0+l 46 -110 5.0 1.0 NS= a2 600 6.0 0.0
2 1 464 O+1 T -650 6 8 2v 0= 46 -110 5.0 1.0 NN -1 +6 -100 3.0 3.0
6 8 464 O+1 49 -650 21 29v0+1 46 -140 1.0 5.0 NS-1 v6 -100 3.0 3.0
7 4 44 O+2 w7 -680 7 4 29 0+1 46 -140 1.0 5.0 NS -2 vJ] -200 0.0 6.0
16 & KKn2 Bésta kontrakt 17 443 Bésta kontrakt 4 E75 Bésta kontrakt
Vast v 1052 34 V =-140 Nord vKD82 44 N D -1 -100 vD10865 6NT S = 1440
ov 4642 Ingen + K4 + D9
+K1076 & ¢ v &N #K10862 & ¢ v &N *872 LI A
4 E63 4109874 N85446 4762 4EDKNn1098 N 9 4 9 4 6 4 DKn1092 4843 N 8 12129
vDKn9843 ¢76 S85 446 v53 v EKn10 S949 46 v9 S 8 12129
¢ E7 ¢ KDKn9 057 996 ¢+ EDKNn1073 ¢ 652 049 496 ¢ Kn53 05114
*E8 #Kn5 V57996 D3 LY V49496 #KDKn1053 V 5 1 1 4
4 D5 & K5 & K6
v EK v 9764 v EKn4
410853 +98 + EK876
#D9432 #EKN975 *E64
Par  Kontr Ut Res Par  Kontr Ut Res  Poang Kontr Ut Res  Poang
3 5 1INV-1 *7 100 7 5 34 0= *A -140 6.0 0.0 3v N+2 &K 200 6.0 0.0
7 4 4v V-1 *6 100 3 2 264042 &5 -170 3.0 3.0 34 V-3 +Q 150 40 20
21 3vV= *7 -140 8 1 24 0O+2 ¢9 -170 3.0 3.0 3¢ N+1 %6 130 2.0 4.0
6 8 3vV= *7 -140 4 6 24 O+3 +8 -200 0.0 6.0 34 0-2 v4 100 0.0 6.0
19 4 K106 Basta kontrakt 20 4 K83 Basta kontrakt 4 ED2 Basta kontrakt
Syd vD10984 4v S =420 Vast v KD1053 64 V D -3 800 vD74 3v O =-140
(6)) +73 Alla +5 + KD108
#E83 LIXS N #EKNn93 & ¢ v &N »K96 & ¢ v &N
« EKN972 4854 N9 5 6 +D9 « EKn1076542N 127 114 6 @- # KKn953 N53 454
vK3 v Kn6 S 106 8 vKn8762 v- S 124 113 4 v EK10853 v6 S53455
¢ E1064 ¢ DKn952 037 3 +82 ¢ EKn963 013293 ¢ E9642 O 8 109 8 8
*42 #D95 vV 37 3 #K1072  &- V142295 #Kn10 vV 8 109 8 8
«D3 .- 4108764
vE752 vE94 v Kn92
+ K8 + KD1074 +3
#KKn1076 +D8654 #8754
Par  Kontr Ut Res Par  Kontr Ut Res  Poéang Kontr Ut Res  Poéang
4 6 4v S= s A 420 7 5 5vyDN-1 &A -200 6.0 0.0 3v V= * K -140 50 1.0
8 1 2vS+3 &2 200 3 2 5vDN-2 oA -500 4.0 2.0 2v V+1  ¢Q -140 50 1.0
3 2 3vyN= 8 140 8 1 44 O= vA -620 2.0 4.0 3¢ 0+2 vl -150 2.0 4.0
75 264V= v8 -110 4 6 44DO= ©vA -790 0.0 6.0 3NV +1 *9 -430 0.0 6.0
22 4 Kn1096 Bésta kontrakt 23 s E Bésta kontrakt a4 Bésta kontrakt
Ost v Kn97654 34 S =140 Syd v EKn103 6NT S = 1440 v Kn9872 5v N D -2-300
oV 6 Alla + KDKn52 *2
#EKn & ¢ v &N #KKn3 LI A #EK8542 LI A
sE4 4 D72 N3788965 4D 49876532 N 1110129 & K98652 N 101 9 2
vD108 vK3 S3788965 vD8 v 764 S 1110129 vE5 S 101 9 2
+5 ¢E108732 O 9 6 4 4 6 ¢+ E87643 ¢ 10 01314 ¢ EKKn103 ¢ D9864 O 3 114 10
#KD87432 #109 V96445 «D742 #85 V1314 #DKn10 »- vV 3 114 10
» K853 » KKn104 2 E1073
vE2 v K952 vKD10
+ KDKn94 +9 +75
#65 #E1096 #9763
Par  Kontr Ut Res Par  Kontr Ut Res  Poang Kontr Ut Res  Poang
51 34 S= +6 140 2 8 6vyS= ¢ A 1430 40 20 2 8 3¢ V+3 &K -170 6.0 0.0
2 8 44 S-2 +5 -100 4 3 6vS= 4Q 1430 40 20 4 3 5¢ V+1 &K -420 2.0 4.0
4 3 4v N-2 &T -100 51 6vyS= *A 1430 40 20 O= vK -420 2.0 4.0
7 6 3v N-2 &T -100 7 6 BNN+2 T 660 0.0 6.0 O= vK -420 2.0 4.0
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